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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

Give the Plural of " leaf "

(A) leafs (B) leafes (C) leaves (D) None of above

Find out feminine noun.

(A) Heroine (B) Widower (C) lion (D) Peacock

Find out an adjectives. Rahul's Father is a doctor

(A) Proper Adjective (B) Possessive Adjective

(C) Distributive Adjective (D) Demostrative Adjective

There is sugar in the tin, so you can take it and make tea.

(A) alittle (B) afew (C) little (D) few

We often to the office.

(A) go (B) goes (C) going (D) gone

I my mother

(A) are helping (B) amhelping (C) helping (D) is helping

Chaitanya was punished he played a mischief

(A) Because (B) But (C) Or (D) So
lotus is our national flower.

(A) An (B) A (C) The (D) None

Give synonyms - Curriculum

(A) Bio-data (B) Course (C) Programme (D) Syllabus

Give the antonyms - Friend

(A) Foe (B) Fresh (C) Dislike (D) Ugly

odd one out.

(A) nephew (B) nurse (C) niece (D) cousin

Revatikaki died malariya

(A) for (B) from (C) of (D) in

Choose the incorrect spelling

(A) Thursday (B) Saturday (C) Wednesday (D) Tuseday
Odd one out

(A) Man—men (B) hair—hair (C) leaf—leafes (D) foot - feet
Give the synonyms. - Particular

(A) Special (B) Specific (C) Definite (D) General

Give the Antonyms. - Right

(A) Wrong (B) Left (C) BothA&B (D) None of these
The spelling of 30 is

(A) Thirty (B) Threety (C) Threerty (D) Threeteen
Correct the sentence. - She retired from next year

(A) She retired to next year (B) No error

(C) She retired for next year (D) She retired next year

Change the Voice. - Who sings this song ?
(A) By whom is this song sung ? (B) By whom this is song sung ?
(C) By whom this that song sings ? (D) None of the above
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20.

21.

22,

23.

24,

25.

26.

217,

28.

29.

30.

31.

31.

Choose the verb.

(A) believe (B) choice (C) decorative (D) dusty

If one Pl applied in the system and the user has not closed in system with Select the
Advance, will system allow applying another Pl Advance in the system ?

(A) Allow always (B) Allow sometime (C) Notallow (D) None of above
What is the meaning of AP ?

(A) Account Paid (B) Account Payable
(C) Asset Payable (D) None of above

In LT Billing Proforma C report is for ?

(A) Collection Report (B) Recovery Report
(C) Meter Reading Report (D) Collection Control

When you choose the invoice type as a PO default, what information you have to
enter to copy the Supplier information ?

(A) Supplier Number (B) Receipts Number

(C) Purchase Order (PO) Number (D) All of Above

What is the full form of HRMS ?

(A) Human resource monitoring system

(B) Human resource management system

(C) Human resource made system

(D) Hiring resource management system

Meters are tested in module.

(A) Quality (B) CRM (C) Project (D) INV
Which is the correct sequence of Collection deletion ?

(A) Adjustment -> Collection -> Collection Deletion

(B) Collection -> Collection -> Collection view

(C) Collection -> Collection Deletion

(D) Billing -> Collection -> Collection Deletion

Supplier invoice can be prepared from which module ?

(A) General Ledger (B) Account Payable

(C) Account Receiver (D) LT Billing

In LT Billing, tariff code LTMD stands for ?

(A) Residential (B) Street Light

(C) Water Works (D) Manufacturing & Service Industries

What additional Charges are recovered from Consumer while making e-payment of
energy bill through Net Banking ?

(A) Rs. 5/- + Service Tax (B) Rs. 10/- + Service Tax

(C) 0.75% of Transaction amount + Service Tax / GST

(D) No Charges

Philip Kontine is associates with which Game ?

(@) Golf (b) Cricket (c) Football (d) Hockey
[Bellu 518181 56 ud e AstuAA € ?
(a) olics (b) (332 (C) setlia (d) ¢l
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32.

32.

33.

33.

34.

34.

35.

35.

36.

36.

37.

37.

38.

38.

39.

39.

40.

40.

41.

In year 2018, As per world economics form Indian Rank at Globlal
Manufacturing Index (GMI)

(a) 30" (b) 12" (c) 8" (d) 102"

aes SsiBsuU SiRUAL 2AINA HruF5ATA S suHL HIRAAL 5HLS A 2018 HL suL S ?
(@) 30 % (b) 12w (c) 8 (d) 102 wi

48" Annual Meeting of World Economics form held at :

(a) Canada (b) Switzerland (c) India (d) America
aes Ssirifisu s1u ) 48 Wl aullls tiss sugam a3 4 © ?

(a) Canada (513 (b) Switzerland (Racxd-s)

(c) India (*uRq) (d) America (»14<ls1)

Which city of India started first Helicopter Taxi Service ?

(@) Shimla (b) Banglore (c) Baroda (d) Nagpur

sl 83 GiRdl wan lasie: 25 AL a3 53 ?

(a) Ane (b) ciaa3 (C) “RisL (d) -woru2

Who appointed as first India Brand ambassador of Uber ?
(@) Virat Kohli  (b) Amir Khan (c) Amitabh Bachhan (d) Suresh Raina
Bol-l wAH GIRAY s 2A3R a3 sidl Rugs s 2udl 9 ?

(@) [QRie sisd (b) 2uHlR v (€) uMM tiza  (d) uA 3
Which day knows as consumers day ?

(@) 15 August (b) 15 March (c) 15 April (d) 15 January
sul [BauA ae s=puuR [Ba a3 sinva 2ud © ?

(@) 15 iR (b) 15w (c) 15 M (d) 15 a-azud
World Cancer Day celebrates on.

(@) 4 August (b) 12 June (c) 12 April (d) 4 February
(A2 SR [Bax suIR Goaarm 2ud ¢ ?

(@) 4 e (b) 12 % (c) 12 xla (d) 4 39204
On which day National youth festival celebrates ?

(a) 12 August (b) 5June (c) 12 July (d) 12 Janyuary
sul [Bad Aand uy $élaq Goan 8 ?

(@) 12 viidwre (b) 5% (c) 12 geusS (d) 12 sa=azuid
Which team won 27" Sultan Afasal Shah cup ?

(@) Australia (b) Pakistan (c) India (d) Germany
56 &0 27 Ui UL ADAMS $Y DAL ?

(@) 2ulaa (b) Wl (C) ™Rq (d) s+l

In year 2018, World Bank Predicted GDP of India will be.

(@) 4.1% (b) 7.3% (c) 6.5% (d) 8.2%

[Asq 613 dlFdHL ad 2018 L MR- [A518-11L HUE1Y Sea 251 AvUL S ?

(@) ¥.1 % (b) ©.3% () s.u% (d) ¢:2%
Asian Billiard Championship — 2018 won by

(@) Anjuman Shah (b) Pankaj Adwani

(c) Manav Tripathi (d) Sushil Varma
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41.

42.

42.

43.

43.

44,

44,

45.

45.

46.

46.

47.

47.

48.

48.

49.

49.

50.

50.

2018 2A[Riuq [Blaas ARva-iug 2ifed 519 oy ¢ ?
(@) xgut e (b) uswaqsasll  (c) WwalBhwdl  (d) wdlaaxl
Which country celebrate 4™ February as Independence Day ?

(a) Burma (b) Mynamar (c) Bhutan (d) Srilanka
su1 29 4 3620 UldiAl adst [Bau Gl ?
(@) el (b) ®uuR (C) ®aurt (d) slast

Who appointed as MD in Sony India ?
(@) ArijitBasu  (b) Sunil Nayyar (c) Aditya Puri  (d) Vijay Nehra
Al SEsa-t MD a3 si-l Rugs ad © ?

(@) »@dacuy (b)) wla-uuR (c) 2ulecuyd (d) [doru gL
Devighat Hydro Electric Project is located in

(@) Bhutan (b) Bangladesh (c) Nepal (d) India
edlene srugl SAsds wigse suLvuALd ?

(a) M (b) euocica (c) dwn (d) ®uRd
Which of the following is the main source of aluminum ?

(@) lron (b) Copper (c) Zinc (d) Bauxite
AAMUNAL you vl 5018 ?

(a) wdq (b) siuz (c) As (d) eususe
The first museum in India was setup in

(@) Mumbai (b) Delhi (c) Calcutta (d) Madras
Aluay Al UL HRaw s S 8dl ?

(@) wos (b) (& (C) siesdl (d) usi
Defence service staff college is located in

(@) Wellington  (b) Mumbai (c) Delhi (d) Gujarat
[33-2 ulawd 2218 s1A% saLsudl & ?

(@) adlazid (b) &l (c) uod (d) 2esRuq
Article 370 of the Indian constitution is related to

(@) Punjab (b) Assam (c) J&K (d) Sikkim
Rl sl sau 390 DAl sifl 8 AL vl 9 ?

(@) uaa (b) 2uun (c) w¥—sedlR (d) AsAu

"Itna Sannata Kyun hai bhai" Who said this words in Sholay ?
(@) Arjunsarja (b)) AKHangal (c) Dharmendra (d) Sanjiv Kumar
“Srl A2l 53 S MUS” L SUARL WA HL SR GUA © ?

(a) 2% uA (b) »sea4 (c) a¥- (d) A sHR
What is Hrithik Roshan's nick name at home ?

(a) Babalu (b) Duggu (c) Sonu (d) Pappu
Nedls A2 Slenng a1 O ?

(2) g (b) o2 (c) 2y (d) wy
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51.  Which is smallest number from the given ?

68 24 10 99
@ 69 (b) 25 © 11 (@) 100
51. -l well 55 uvun Al -l e ?
68 24 10 99
@ 69 (b) 25 © 11 (@) 100
52. E+g:
5 7
2 4 14 24
@ 0) (©) 3 () 5
52. E+g:
5 7
2 4 14 24
@ 0) (©) 3 () 5
53. 3 +4°=
(a) 72 (b) 122 (c) 52 (d) None of above
53. 3P +4°=
(a) 7° (b) 122 (c) 5° (d) 2is v «d)
54. 1,6,11,17, , 30
(@) 25 (b) 28 (c) 23 (d) 24
54. 1,6,11,17, , 30
(@) 25 (b) 28 (c) 23 (d) 24
55. 0,3,8,15, , 35
(@) 24 (b) 26 (c) 25 (d) 20
55. 0,3,8,15, , 35
(@) 24 (b) 26 (c) 25 (d) 20
56. AZ, CX, FU,
(@ IR (b) 1V (c) JQ (d) KP
56. AZ, CX, FU,
(@ IR (b) IV (c) JQ (d) KP
57. C4X,FoU, I16R,
(@ L250 (b) L27P (c) K25P (d) L251
57. C4X,FoU, I16R,
(@ L250 (b) L27P (c) K25P (d) L251
58. 9:25::49:
(a) 36 (b) 64 (c) 81 (d) 63
58. 9:25::49:
(@) 36 (b) 64 (c) 81 (d) 63
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59.

59.

6 | 11 | 21
7 [ 13 | 25
8| 15| 2
30 (b) 29 () 31 (d) 26

6|11 21
/113 |25
8|115| ?

(@) 30 (b) 29 () 31 (d) 26

6 12 20
NVANVANYAN
4 9 9 16 16 ?

() 21 (b) 25 () 30 (d) 35

6 12 20
EVANANYA
4 9 9 16 16 2

61.

61.

62.

62.

63.

63.

(a) 21 (b) 25 (c) 30 (d) 35
Find out LCM of the fractions 108 : 42 , o4
375 25 95
756 326 282 434
A — B) — C) — D) —
(A) c (B) c (©) c (D) c
A 2006 2yals wvl LCM aidl 2uul - 108 , 42 , >4
375 25 55
756 326 282 434
A) — B) — C) — D) —
(A) c (B) c (©) c (D) c
Find the average of 5 ODD. numbers between 40 to 50.
(A) 445 (B) 45 (C) 43 (D) 455
¥0 2l U0 3L WA A5 Aol u2212 Al
(A) 445 (B) 45 (C) 43 (D) 455
If X : y=4:5, then the ratio of 2x + 3y and 3x — 2y is
(A) 24:5 (B) 23:2 (C) 25:6 (D) 23:4
AX:Yy=4:5¢dl2X + 3y 21 3X — 2y -l 2elin: o A
(A) 24:5 (B) 23:2 (C) 25:6 (D) 23:4
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64.

64.

65.

65.

66.

66.

67.

67.

68.

68.

69.

69.

70.

70.

71.

71.

12.

If 6 meter of Rod weight 22.8 kg then what will be the weight of 11.25 meter of
Rod.

(A) 42.25 (B) 42.5 (C) 42.75 (D) can not determine
ol 6 Hl2: Al axq 22.8 kg siu di 11.25 H12z ulhad agq 524 Siu?

(A) 42.25 (B) 42.5 (C) 42.75 (D) can not determine

In how many years does a sum of money becomes 4 times at simple interest rate of
10% p.a.

(A) 30 (B) 45 (C) 60 (D) 90

ol ALE % AL €2 10% uld anl Slu dl 254 S2el avw 212 ALl 2 o9l

(A) 30 (B) 45 (C) 60 (D) 90

After what time will the sum of Rs. 10,000 becomes Rs. 12,000 at 5% p.a. simple
interest?

(A) 3years (B) 2 years (C) 5 years (D) 4 years
ol Alg ALY €2 5% uldan Siu dl 3(aL 10,000 s2a1 Ay 3[R 12,000 A4l
(A) 3years (B) 2 years (C) 5years (D) 4 years

Cricket Bat were bought at 6 for Rs. 36 and sold at 2 for Rs. 16. Find out the gain in
the transaction.

(A) 25% (B) 33.33% (C) 50% (D) 66.66%

oAl § (552 ol 3Mar 35 WL widlen Sl 24 2 (332 vi2 3[R 1.6 W addl (sell) W sueun i dl »u
UABIRUL S2¢L 251 151 AU 4.

(A) 25% (B) 33.33% (C) 50% (D) 66.66%
What is the percentage loss on cost price if the loss on selling price is Rs. 20?
(A) 16.66% (B) 18.23% (C) 21.33% (D) 5.66%

ofi AL [SHd U2 52 3[AAL 20 8, dl d e [BHd U s2un 524 251 2al.

(A) 16.66% (B) 18.23% (C) 21.33% (D) 5.66%
Amala born on 27 — July 1985. How old is the she by 24 — October 2007?
(A) 22 years 4 months 5 days (B) 22 years 2 months 27 days

(C) 22 years 3 months 3 days (D) 21 years 2 months 3 days
AHA U Al 20 — AU LU 8. d ¥ — 2U52161R 2000 UL [Bad s2d) 9ea a9l
(A) R adl ¥ 13- 4 u [Ban (B) 22 ad 2 8- 11 29 [Bau

(C) R ad 3 w8+ 21 3 [Bau (D) 24 a2 M3+t 211 3 [Bax

If 18 — May 2001 is Friday, then 05 — March 2005 is

(A) Sunday (B) Saturday (C) Monday (D) Friday

ol 1< — H 009 LAY W5AUR S1A dl U HIZ 2004 1L Ay [Bad sul AR 84l

(A) 2Adar (B) alfar (C) dHaR (D) asawr

Which of the following years is not a leap year

(A) 600 (B) 2076 (C) 2084 (D) All of them
1A oruda el sy ad dlu ayl ).

(A) 600 (B) 2076 (C) 2084 (D) @wen

If A ={23,22, 21}, B ={23, 24, 25} find B — A
(A) {24,25}  (B) {23,24,25} (C) {21,22} (D) Null set
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72,

73.

73.

74.

74.

75.

75.

76.

76.

77,

77.

78.

78.

oA ={23,32,21}, B={23,2%,u} 5 di B - A g a3l
(A) {r¥,:} (B) {:3,2%,u} (C) {214,2r} (D) vudl 2w
What does the shaded portion indicated?

(A) A-B

(B) A-B

(€) (A-B)U(B-A)

(D) (A-B)N(B-A)

3 calddl >usld o cald 8?
(A) A-B

(B) A—B
(©) (A-B)U(B-A)

(D) (A-B)N(B-A)

6 men or 9 women can do a piece of work in 30 days. Then find in how many days
10 men and 12 women can do the work?

(A) 9 (B) 10 (C) 12 (D) 15

§ UM Al ¢ AL 511 30 [Zaum Yul 52 6. d 511 10 U™ 214 12 {2l 2 [2aum yul
524l

(A) « (B) 10 (C) 1= (D) v

4 men can reap 40 hectares in 12 days then how many hectares, 24 men reap in 20
days ?

(A) 360 hectares (B) 380 hectares (C) 320 hectares (D) 400 hectares

¥ HIRIAUL WO 8522 12 [BauHl vid 897 di 2% IRl 20 [Zaum s2a1 8522 wsa?

(A) 360 8s2= (B) 380 8522 (C) 320 8522 (D) 400 8s2=

Profit always calculated at

(A) Cost price (B) Sales price

(C) Additional cost (D) none of above

5l sHAl YR dLRu.

(A) %[5 w2 (B) d.l5. u (C) wRd U (D) s ua+dl
What is the product of all the numbers in the dial of a telephone?

(A) 168840 (B) 178480 (C) 169480 (D) None of these
2lasin- sraadl dmm Avan, ARSIR 9 sl

(A) 15¢cyo (B) 19¢¥¢o (C) 1seseo (D) s ua+dl

A group of 1800 person consists of captain and players is travelling in a train. For
every 17 players there in one captain. The numbers of captain in the group is

(A) 100 (B) 107 (C) 105 (D) 106

1200 VAL AHE Stllrt A1 s SHL HAEEL 52 9. €35 1.9 vl |2 As st 8.
UHBHL 5241 St 4.

(A) 100 (B) 109 (C) 10ou (D) 105
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79.

79.

80.

80.

81.

81.

82.

82.

83.

83.

In BCCI meeting there are ten people. All shake hands with each other once. How
many handshakes will be there altogether?

(A) 100 (B) 95 (C) 45 (D) 10

BCCI -l [élaimn 10 wmil 9. oién 2450001 018 218 Al 8+3815 53 8. dl L A5 0 524
dr3als Al

(A) 100 (B) «u (C) w¥u (D) 10

A father is now three times as old as his son. Five years back, he was four times as
old as his son. The age of the son is

(A) 15 (B) 20 (C) 25 (D) 30

Stamt Al Guz suns sl 3 el 8. iy anl udan Rdi-dl GUR suns sl w2 ALl i, suns-l
GHR 324l gal.

(A) v (B) =0 (C) u (D) 30

In certain code language CHILD is coded as 32546, MODEL is coded as 17684
then OLEIC is coded as

(A) 74853 (B) 77853 (C) 78534 (D) 74213

ot CHILD+l code 32uy s $iu, MODEL il code 195¥¢ giadi, OLEIC i code o siu
aAs.

(A) 9¥¢u3 (B) 99¢u3 (C) 9cu3y (D) 9%¥r13

SURVEY is coded as TTSUFX then WISDOM is coded as

(A) XHTCPN (B) XHTCNL (C) XHTCPL (D) XHRCPL

SURVEY i code TTSUFX & dl WISDOM -il code

(A) XHTCPN (B) XHTCNL (C) XHTCPL (D) XHRCPL

JUMP is written as ITLO and COPIER is written as BNOHDQ then how CAMPUS
will be written that code

(A) SUMAC (B) DBNQVT (C) ACPMSU (D) BLLOTR

JUMP Al 21 ITLO 244 COPIER -l 214 BNOHDQ 8 di CAMPUS il 244 91 8 3.

(A) SUMAC (B) DBNQVT (C) ACPMSU (D) BZLOTR

The diagram given below show the numbers of students who got distinction in three
subjects out of 500 students. Study the diagram carefully and Answer the question

that follow.
A2 208l 2usfm A (3) [Quan R-saq dndar oo [Qendlzi-l a4 suda 8. 2k
A2 AL WAl G2 2l
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84.

84.

85.

85.

86.

86.

87.

87.

88.

88.

89.

What is the percentage of students who got distinction in two subject?

(A) 12% (B) 14% (C) 10% (D) 15.4%
% [Aenl1 o [anua B2él-san e & d-l 2siadl . 6.

(A) 1% (B) 1¥% (C) 10% (D) u.¥%
What is the percentage of students who got distinction

(A) 44% (B) 64% (C) 53.48% (D) 74%
o [Qenl>ii (32852 Horen 89 d-ll 21l 9 6.

(A) ¥¥% (B) s¥% (C) u3.¥¢x (D) 9%
The percentage of students with distinction marks in Maths is

(A) 22.6% (B) 21.6% (C) 24.6% (D) 32.6%
AlBamn 3252+ e [QenlAi-l 251l 2 €.

(A) 2R.5% (B) R1.5% (C) =¥%.5% (D) 32.5%

Turnover in crores of six companies (U, V, W, X, Y, Z) are given

Which company's turnover is highest?

(A) U (B) V (C) W (D) X
58 suln 2-diiar ag €97?
(A) U (B) V C) w (D) X

What is the percentage of turnover of a company X over turnover of the company
\%

(A) 25% (B) 50% (C) 75% (D) 100%

sUl V uR su-dl X - 242iiaz-l esiudl g 97
(A) % (B) uwo% (C) 9w (D) 100%

Give the difference of average turnover of first three companies and last three
companies.
(A) 3.33 (B) 6.66 (C) 2.67 (D) 1.85
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89.

90.

90.

91.

91.

92.

92.

93.

93.

94,

94.

95.

uaH AR sU-laAl 214 Deefl 2w sudlziinn -l dstad 3 9.
(A) 3.33 (B) s.s¢ (C) .59 (D) 1.¢u
Give the percentage contribution of turnover of W in the overall turnover of all the

companies.

(A) 12% (B) 50% (C) 40% (D) 29%
AHIH sUliid $& 27241 sU-L W AL 2-2AlaR-1 251a1£) 510 9 6.

(A) 1% (B) woy (C) vox (D) 2ex
In which receipt account code, Reconnection Charges booked.

(@) Energy Charges (b) Capital Receipt

(c) Misc. Receipt (d) Noneofa,b,c

AsAsAA A% vUASHL 521 251872 83 EAIRA 15 SAUML 2Ud €9 ?
(a) God-l2¥le (b) Mmasalfle  (C) uygrmwAe  (d) i, oll, A0l 518 )

Rate of Delayed Payment charges on energy duesis __ for HT consumers
(@ 6% (b) 12 % (c) 15% (d) 18 %
212, st 1oy ol susl dou [Qaolld Ysaell e e2 32l 251 289 ?

@ s% (b) 1% (c) u% (d) 1¢%

Stores Receipt (S.R.Notes) is prepared for
(@) Materials returned by Contractor (b) Materials issued from Stores

(c) Materials received in Stores (d) Materials received by Contactor
2R e (A 2UR.AIR) AL HI2 sl 20d €9 ?

(3) 51v2152R HAAHIA URd 53 AR (b) M 221RHA] U W2

(C) ML 21RHL HUd AR (d) Sir21522 ell Hid At 20d AR

Bin Card shows

(@) Quality of Stock (b) Value of Stock

(c) Quantity of Stock (d) Noneofa,b,c

ofl 51§ w el 8 ?

(@) weudla@ant (b) ol Buda () eisHl el (d) i, ofl, 0 el 515 )
Delayed Payment Charges are leviable from

(@) Date of Issue of Bill (b) Non-Operative Collection Account

(c) AtPar Account (d) Cash Credit Account
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Paper Type - A

95.

96.

96.

97.

97.

98.

98.

99.

99.

100.

100.

[Aaolla asaell e 58 Al damn 2uqd ?

(a) ella suen-fl arlwedl (b) el Grau-l adlwel

(€) e Hél-ur elarl il (d) i, ofl, A el 515 1)
GST to be borne by Company is debitable to

(a) Expenses of relevant Service (b) Liability of Service Tax
(c) Rate and Taxes (d) Noneofa,b,c

su-fl eI GILLAAIHL BUAdl DHAIL sU1 GEURAHL 2 € ?

(@) oL usdl Aldu- v vid (b) uldu 2a-l gaaneldl vud
(c) BBHd i1 drvud (d) i, ofl, 0 el 515 1)

If Opening Balance of an item is 8000, Return from works is 6000, Purchase is
2000, and Closing balance is 1000, then Consumption is

(@) 17000 (b) 3000 (c) 15000 (d) 1000

A 519 e A3a-l Ras 000 i, sl ud 2dd §000 Sid, WLl 2000 8, A
el s 1000 81y, dl Ul d-l AU S2¢l 2da ey ?

(@) 19000 (b) 3000 (c) 1uooo (d) 1000

GST recovered form Contractor

(@) Income to the Company (b) Liability to the Company

(c) Expenditure to the Company (d) Noneofa,b,c

si=21522 WA Ay dldl 2 % ey ?

(@) suldl2nas (b)) su-dldl gaeisid (€) su-dl-iwa (d) 24, oL, Al el 518 )
Depreciation for Assets costing less than Rs. 5000 will be

(@) 5 % of the Original Value (b) 20 % of the Original Value

(c) 100 % of the Original Value (d) 10 % of the Original Value

31. w000/— Ul HEdl [BHd-l Mesd Bur S2a 251 HARL ARAHL 20 8 ?

(@) 4 BHauu % (b) ¥ BHdw20 %(c) ya lBua 100 % (d) 4o Buda-u 10 %
Journals and Ledgers are

(a) Main Books of Accounts (b) Susidiary Books of Accounts

(c) Records of Original Entry (d) Records of Duplicate Entry

AL G A vidladl 4 O ?

AN A\ N\

(@) weavuardl g (b) s vuard A (C) wua a8 (d) swllde Aiaqi 3si8
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